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YO LEER

TU OIR

TU HUIR

USTED HUIR

TU CAERSE

YO ATRIBUIR

TU ATRIBUIR
USTEDES HUIR
NOSOTROS HUIR
USTEDES CREER
VOSOTROS HUIR
VOSOTROS CREER
NOSOTROS CAERSE
NOSOTROS ATRIBUIR

NOSOTROS CONSTRUIR
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TU LEER

YO CAERSE

USTED LEER

USTED CREER
USTED CAERSE
USTEDES LEER

TU DESTRUIR
NOSOTROS LEER
VOSOTROS LEER
NOSOTROS CREER
USTEDES CAERSE
USTED SUSTITUIR
VOSOTROS ATRIBUIR
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YO HUIR

YO CREER

TU CREER

USTED OIR

YO DESTRUIR
USTEDES OIR

YO SUSTITUIR
NOSOTROS OIR

TU CONSTRUIR
VOSOTROS OIR
USTED ATRIBUIR
USTED CONSTRUIR
USTEDES ATRIBUIR
VOSOTROS CONSTRUIR
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